AGONOMETRICAL RATIOS OF COMPOUND
GLES




1) sin (A + B) = sinA. cosB + cosA.
sinB

2) sin (A-B) =sinA. cosB - cosA.
sinB

3) cos (A+ B) =cosA. cosB -sinA.
sinB

4) cos (A-B) =cosA.cosB + sinA.
sinB



tanA + tanB
1 — tanA.tanB

tan (A + B)

tanA — tanB
1 + tanA.tanB

tan (A - B)




cotA cotB — 1
cotB + cotA

cot (A + B)

cotA cotB + 1

cot(A—B)=

cotB — cotA
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STINTR ¢ cos 75° =cos (45° + 30°)
= cos 45° . cos 30° - sin 45° . sin30°
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WOIYR ¢ cot 75° =cot (45° + 30°)
_ cot 45° . cot 30° - 1

cot 45° + secC 30°
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m_3¢| cos?30° - sin2 30° G# WA FOL

ATIYH 3 ¢:05230°--sin2 30°

= cos (30° + 30°) cos (30° - 30°)

= cos 60° cos 0°
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TR s 1 - cosA CosB + sinA sin
A, cosA CosB - sinA sinB = |

B + sinA sinB =0THA, A
B=0

J, cos (A +B)=¢03 0°
qqA, A+ B =0° (Ans.)



T e ———

Te-dq) eme 3y (4, cos 81° 26" cos 21° 26" + cos8° 34’ cos 68° 34'-'12" *

MU ¢ cos 81°26" cos 21° 26" + cos(90° - 81° 26°) cos(90° - 21° 26”)
= ¢cos 81° 26" cos 21° 26" + sin 81° 20’ sin 21° 26°
= cos (81° 26" - 21° 26")

= cos 60°
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AXIYF ¢ sin (A - B) = sinA cosB - cosA sinB.
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. COS(A + B) = cosA cosB - sinA sinB=¢
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